
goVy Aä¶mg : B¶ËVm Xþgar : {df¶ - J{UV : CËVa MmMUr : 1

 à. 1) Mm¡H$Q>tVrb {MÌo ‘moO Am{U ¶mo½¶ g§»¶o^modVr Jmob H$a.      (2 JwU)

 à. 2) Imbr {Xboë¶m XmoZ g§»¶m§À¶m ‘Ybr g§»¶m {bhr.        (1 JwU)

48 50

 à. 3) Imbr {Xboë¶m g§»¶oÀ¶m bJVMr AmYrMr d bJVMr Z§VaMr g§»¶m {bhr. (1 JwU)

60

 à. 4) Imbrb H«$‘dma g§»¶m VmoaU nyU© H$a.   (2 JwU)

 à. 5) Imbrb g§»¶m XeH$ d EH$H$ ê$nmV {bhr.   (1 JwU)

{MÌ g§»¶m XeH$ EH$H$

50 53

21 24

3 5 8    4     N>Í¶m 8    1    9    5     ISy>

goVy Aä¶mg : J{UV - B¶ËVm Xþgar : CËVa MmMUr

B¶ËVm : Xþgar  EHy$U JwU : 
20

{dXçmÏ¶m©Mo  Zmd : .............................................................................. hOoar H«$. : ....................

emioMo Zmd : .......................................................................................  {XZm§H$ :  ......................



goVy Aä¶mg : B¶ËVm Xþgar : {df¶ - J{UV : CËVa MmMUr : 2

 à. 6) H«$‘mZo ¶oUmè¶m g§»¶m {bhr.       (2 JwU)

39

80

à. 7) ~oarO H$a.         (2 JwU)

à. 8) amOH$S>o 5 noê$ hmoVo. VZyZo Ë¶mbm AmUIr 3 noê$ {Xbo. AmVm amOH$S>o EHy$U {H$Vr noê$ 
Pmbo?           (1 JwU)

 à. 9) dOm~mH$s H$a.        (2 JwU)

à. 10) A‘ZH$S>o 8 ISy> AmhoV d Omo¶mH$S>o 2 ISy> AmhoV, Va A‘ZH$S>o Omo¶mnojm {H$Vr OmñV 
ISy> Amho?         (1 JwU)

A‘ZH$S>rb ISy>

Omo¶mH$S>rb ISy>

A‘ZH$S>rb OmñVrMo ISy>

4
- 1

8
- 3

-
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goVy Aä¶mg : B¶ËVm Xþgar : {df¶ - J{UV : CËVa MmMUr : 3

à. 11) bm§~ nQ²>Q>r>g‘moarb Mm¡H$Q>rV () Aer IyU H$a.     (1 JwU)

 à. 12) AmH¥${V~§YmMm {dñVma H$a.      (1 JwU)

         

 à. 13) Imbrb AmH$mamÀ¶m VwÂ¶m n[agamV AmT>iUmè¶m dñVy§Mr Zmdo {bhr.     (1 JwU) 

   AmH$ma     dñVy§Mr Zmdo

     ............................................................

 à. 14) {Xbobr a³H$‘, {Xbobr ZmUr ¶m§Mm dmna H$ê$Z doJiçm nX²YVrZo V¶ma H$a.  
(n¶m©¶ 1 gmoS>dyZ XmIdbm Amho.)      (1 JwU)

ZmUr
n¶m©¶ 1 n¶m©¶ 2

a³H$‘

5 én¶o

 à. 15) ewH«$dma Am{U a{ddma ¶m§‘Ü¶o Imbrbn¡H$s H$moUVm dma ¶oVmo Ë¶mbm () Aer IyU 
H$a.          (1 JwU)

   Jwédma   e{Zdma   gmo‘dma

1 2 5

1 1 1

1 1


